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Lavene's Test of Equality of Error Variances=
Dependent Variable: ¥
F dff df2 Sig.
383 a 24 8456
Tests the null hypothesis that the error variance of
the dependentvariable s equal across groups.
a. Design: Interce BRI+ 51 +ER =P R
®2
Tests of Between-Subjects Effacts
Dependent Variahle: BE#
Type lll Sum
Source of Squares df Mean Square F Sig.
Corrected Model | 9822080.0002 5 | 1964416.000 11.761 .000
Intercept 350892000 1 | 350892000.0 | 2100.714 000
BR | 4424960.000 2 | 2212480.000 13.246 000
A 3550080.000 1 | 3550080.000 21.254 000
HRle = 431 1847040.000 2 | 923520.000 5.529 011
Errar 4008832.000 24 | 167034.667
Total 364722912 30
Corrected Total 13830912.0 29
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